Honors Math 2

Name ney

Quarter 1 Review Period Date
Simplify the expression with positive exponents.
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Rewrite in Radical Form.

2 1
17. 5mz = Y 18. (3x)2 ,
N / 3
4 A\Y < )
19. —3ms (s ‘ 20. (5x)3
DI\ MY} X )
= /
Rewrite in Exponential Form.
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Simplify the following. Rationalize the denominator when necessary.
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Simplify.
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Solve the equation for x.
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Use the following complex numbers: z=3-6i and w= -5+ 2i
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Given the line: 8x — 12y = 48

55. What s the x - intercept?
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56. What is the y-intercept?

Write an equation that satisfies the given information.

57. Circle: center (4, -3) and radius 3

) )

l p. { \ -

)
L AN \ / ' L 0y )

/
{ \/
-

|

2.

58. Parabola: vertex (1,0)anda = -2




Match the graph and equation with its correct name.

A. Square root (t 1. y=2*
B. Circle B 2 x2+y2=4
C. Absolute Value C3 y=|x=1]+2
D. Cube root B4 y=2yx+3-1
E. Parabola D5 y=Vx+1+2
F. Line G 6 y=2x3
G. Cubic F 7 y=x
H. Exponential C 8 y=—(x+1)%+4
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